Committee Member	Committee/Subcommittee	Meeting Time/Day			Position(s) Needed
ACADEMIC SENATE	•				
ohn Martinez (VPAG, NV)	Chair: Jean Lazo-Uy	(subject to change			3 Undergraduate Rep
C: 818-284-9469	Phone: 323-343-3750	with notice)			2 Graduate Rep
Office Phone: 323-343-4777	Email: jlazouy@calstatela.edu	Tuesdays, 1:30p-3:15p			
Email:asivpag@calstatela.edu		Golden Eagle Ball Room			
	Recording Secretary: Rhonda Roquenore				
Elise Dang (Undergrad)	Phone: 323-343-3750				
C: 626-319-2823/	Email: rroquemore@cslanet.calstatela.edu				
nsiuas1@calstatela.edu					
/acant					
<u>;</u>					
'Email: asiuas2@calstatela.edu					
-					
eslym Mendez (Undergrad)					
C"310-600-0925/					
Email:asiuas3@calstatela.edu					
oseph Shichuan Li (Graduate)					
323-774-9596	323-774-9596				
asigdas4@calstatela.edu					
Stephen Fossett (graduate)					
909-573-3523					
asigdas5@calstatela.edu			1		<del>                                     </del>

#Meetings

Total

Incentive

## **EDUCATIONAL POLICY COMMITTEE**

Elise Dang- (Undergrad)

Chair: Paula Arvedson

Meeting Time: Wednesdays, 1:40 – 2:55 p.m.

24 x \$ 25.00 = \$ 600.00 1 Undergraduate Rep

Vacant- (Graduate)

C: / E-mail: Executive Secretary: Michelle Hawley

323-343-3830

mhawley@exchange.calstatela.edu

#### STANDING COMMITTEES OF THE EDUCATIONAL POLICY COMMITTEE **ACADEMIC ADVISEMENT SUBCOMMITTEE** #Meetings Incentive Total Leslym Mendez (Undergrad) Meeting Time: 1st & 3rd Mondays, 12:15 – 1: 350.00 1 Undergraduate Rep Chair: Veena Prabhu 14 Х \$ 25.00 = \$ C: 310-600-0925/ Phone: 323-343-2906 \$ 350.00 1 Graduate Rep 14 \$ 25.00 Email:asiuas3@calstatela.edu Email: vprabhu@calstatela.edu Vacant (graduate) P: / Email: Executive Secretary: Michelle Hawley 323-343-3830 mhawley@exchange.calstatela.edu Recording Secretary:

ACADEMIC INFORMATION R		#Meetings		Incentive		Total			
Vacant (undergrad)	Chair: Catherine Haras	(Meeting Time: 2nd & 4th Mondays, 12:15 – 1	14	х	\$ 25.00	=		350.00	1 Undergraduate Rep
P: / Email:	323-343-5607	(Weeting Time: 21td & 4th Worldays, 12:13 – 1	14		\$ 25.00		+ -		1 Graduate Rep
r. / Lindii.	charas@calstatela.edu		14	Х	\$ 25.00		, , .	330.00	1 Graduate Nep
Vacant (graduate)	criar as@caistateia.euu				+ +		┼		
P: / Email:	Fuggutive Coeretary				+ +		┼		
P. / Elliali.	Executive Secretary:				+ +		┼		
	Decording Consetons						<del> </del>		
	Recording Secretary:						<u> </u>		
CURRICULUM SUBCOMMITT			#Meetings		Incentive		Total		
Vacant (undergrad)	Chair: Zhen (Carol) Cui	1st and 3rd Tuesdays,	14	Х	\$ 25.00	=			1 Undergraduate Rep
P: Email:	323-343-2939	10:50a-12:05 pm	14	Х	\$ 25.00	=	\$ :	350.00	1 Graduate Rep
	zcui@calstatela.edu								
Joseph Schichuan Li (graduate)	Executive Secretary: Margaret Garcia								
C: 323-774-9596 /	323-343-3830								
Email: asigdas4@calstatela.edu	mgarcia2@calstatela.edu								
	Recording Secretary:								
<b>GENERAL EDUCATION SUBC</b>	OMMITTEE		#Meetings		Incentive		Total		
Matthew Hu (undergrad)	Chair: Daisy Alfaro B. Cerqueira	2nd and 4th Tuesdays week,	14	Х	\$ 25.00	=	\$ :	350.00	1 Undergraduate Rep
P: Email:	323-343-4374	12:15 pm-1:30 pm	14	Х	\$ 25.00	=	\$ :	350.00	
	dalfaro7@calstatela.edu								
	Executive Secretary: Margaret Garcia								
	Phone: 323-343-3830								
	Cell: mgarcia2@calstatela.edu								
	Recording Secretary:								
LIBRARY SUBCOMMITTEE			#Meetings		Incentive		Total		
Vacant (graduate)	Chair: Mark Wild	2nd and 4th weeks, Tuesdays,	14	х	\$ 25.00	=		350.00	1 Graduate Rep
P: / E-mail:	323-343-2045	10:50 am-12:05 pm	14	^	→ 23.00		<del>                                     </del>	330.00	1 Graduate Rep
1.7 L man.	mwild@calstatela.edu	10.50 dini 12.65 pini					<del>                                     </del>		
	mwiid@caistatcia.caa				+ +		<del>                                     </del>		
	Executive Secretary: Carlos Rodriguez	<u> </u>			+ +		<del>                                     </del>		
	323-343-3954				+ +		1		
	Carlos.Rodriguez@calstatela.edu				+ +		1		
	Recording Secretary:						<del>                                     </del>		
	scorumg occircuity.				+ +		<del>                                     </del>		
PROGRAM REVIEW SUBCON	ANAITTEE		#NAcotines		Inconting		Total		
			#Meetings		Incentive		Total	600.65	
Vacant (graduate)	Chair: Michael Willard	Thursdays, weekly;	24	Х	\$ 25.00	=	\$	600.00	1 Graduate Rep
P: E-mail:	323-343-5220	12:15pm-1:30pm			1 1		<del>                                     </del>		
	mwillar@calstatela.edu	<u> </u>			+		-		
					+		-		
	Executive Secretary: Karin Elliott Brown						<del>                                     </del>		
	323-343-3820	<u> </u>			+		-		
	kbrown5@calstatela.edu						<del>                                     </del>		
					-		<del>                                     </del>		
	Recording Secretary:				-		<del>                                     </del>		

FACULTY POLICY COMMIT	TTEE		#Meetings		Incentive		Total	
lise Dang (undergrad)	Chair: Sharon Ulanoff x3-6273	Mondays - Weekly,	24	х	\$ 25.00	=	\$ 600.00	1 Undergraduate Rep
: 626-319-2823/	sulanof@calstatela.edu	1:40pm-2:55pm						1 Graduate Rep
siuas1@calstatela.edu		· ·						· ·
acant: (graduate)	Executive Secretary: Peter Ivory		1					
: /E-mail:	323-343-3809		1				+	
. /2	pivory@exchange.calstatela.edu	+	1					<del> </del>
	prof y & excitating e. culstate la. cau							
	Recording Secretary: Delmy Ruiz		+				+	
	EXT: 3-3810		+		+			
	LAT. 3-3010		+					
LIDCONANAITTEEC OF THE	TACHETY DOLLOY COMMUTTEE							
	FACULTY POLICY COMMITTEE							
WARDS AND LEAVES SU	BCOMMITTEE		#Meetings		Incentive		Total	
acant (graduate)	Chair:	Established each	3	Х	\$ 25.00	=	\$ 75.00	1 Graduate Rep
		Fall semester						
	Executive Secretary: Jason Shiotsugu							
	323-343-3799							
	jshiots@calstatela.edu							
	-		1					
	Recording Secretary:				+ +		1	
	0.23.21						1	
ISCAL POLICY COMMITTI	EE		#Meetings		Incentive		Total	•
		2nd and 4th week. Thursday, 0.25 are 10.40	· ·					1 Hadayayadusta Day
lathew Hu - (Undergrad)	Chair: Veena Prabhu	2nd and 4th week; Thursday, 9:25 am-10:40		Х	\$ 25.00	=		1 Undergraduate Rep
626-236-2161 /	EXT: 3-2906		14	Х	\$ 25.00	=	\$ 350.00	1 Graduate Rep
mail: asiuas2@calstatela.edu								
acant- Graduate	Executive Secretary: Laila Asgari							
	323-343-3802							
	lasgari@calstatela.edu							
	Recording Secretary:							
TUDENT POLICY COMMI	TTEE		#Meetings		Incentive		Total	
acant	Chair: Jayati Chaudhuri	1st and 3rd week Tuesday,	14	Х	\$ 25.00	=	\$ 350.00	1 Undergraduate Rep
Email:	323-343-5168	9:25 am - 10:40 am	14	Х	\$ 25.00	=		1 Graduate Rep
	jchaudh5@calstatela.edu						<u> </u>	· ·
seph Shichuan Li (Graduate)								
323-774-9596 /	Executive Secretary: Nancy Wada-McKee		1					
mail: asigdas4@calstatela.edu	323-343-3100				1		1	
3 5	n.wadamckee@calstatela.edu		1					
			1					
	Recording Secretary: Rosa Chavez		+		+ -		1	
	EXT: 3-3100		+ -				†	1
			+ -		+ +		†	<u>†</u>
STITLITIONIAL ANUMALIA	CARE AND LISE COMMUTTEE	<u></u>	#\\\- = \		Incontin		Total	
	CARE AND USE COMMITTEE	4.03.1 1	#Meetings		Incentive		Total	10 1 10 11 51
eopoldo Saldana (upper division)	Chair:	1st & 3rd weeks; Wednesday;	14	Х	\$ 25.00	=	\$ 350.00	1 Graduate Rep or Upper Div.
626-660-5821		12:15 pm-1:30 pm			+		+	
-mail: lsaldan2@calstatela.edu	Executive Secretary: Scott Bowman				$\bot$		1	1
	323-343-3810						1	
	<u>sbowman@calstatela.edu</u>						1	
	Recording Secretary:							
		1	. 7		1 1		1	1

INSTITUTIONAL REVIEW B	BOARDHUMAN SUBJECTS		#Meetings		Incentive		Total	l e	
Stephen Fossett (graduate)	Chair: Sharon Ulanoff	Even Weeks,	14	х	\$ 25.00	=	\$	350.00	1 Graduate Rep
909-573-3523	EXT: 3-6273	12:30 pm-2:35 pm							
sfosset@calstatela.edu	sulanof@calstatela.edu								
	Executive Secretary: Jason Shiotsugu								
	323-343-3799								
	jshiots@calstatela.edu								
	Recording Secretary:								
PRESIDENT'S AD HOC AD\	<b>/ISORY COMMITTEE ON HONORA</b>	RY DEGREES	#Meetings		Incentive	!	Total		
/acant (Upper Division)	Chair:	MEETS AS NEEDED	2	Х	\$ 25.00	=	\$	50.00	1 Upper Division Student
P: E-mail:					1		1		
	Executive Secretary:								
	,								
EXTERNAL AWARDS NOM	INATING COMMITTEE	<u> </u>	#Meetings		Incentive		Total		
Cayla Stamps – ASI President	Chair:	Thursdays - weekly;	24	x	\$ 25.00	l =	\$		A.S.I. President or Designee
Augus Stainips Asi Fresident	Chair.	10:50 am - 12:05 pm	24	^	پ دے.uu	<del>-</del>	٦,	000.00	7 Freducite of Designee
	Executive Secretary:	10.30 am 12.03 pm					+		
	Executive Secretary.						+		
	Recording Secretary:								
	Recording Secretary.								
OUTSTANDING PROFFSOI	R AWARDS SELECTION COMMITTE	F	#Meetings		Incentive		Total		
(ayla Stamps – ASI President	Chair: N/A	Established each Fall semester	7	×	\$ 25.00	   =	\$		A.S.I. President or Designee
Cayla Stallips – ASI Flesidelit	Chair. Ny A	Fall semester	,	^	\$ 23.00		٦ -	173.00	A.S.I. Fresident of Designee
	Executive Secretary:	rali semester			+		+		
	Executive Secretary.				+		+		
	Recording Secretary:						1		
	Recording Secretary.								
STRATEGIC DI ANNING CO	OPDINATION COMMITTEE		#Mostings		Incontino		Total		
		0 11					_		lacus di la se
Kayla Stamps – ASI President	Chair: Provost & VP for Academic Affairs		8	Х	\$ 25.00	=	\$	200.00	A.S.I. President or Designee
	5 6	the 2nd Friday			_		+		
	Executive Secretary:						+		
	Pocording Coaretony						+		
	Recording Secretary:					Total	Ċ	0.750.00	
						Total	۶	6,750.00	
STRATEGIC PLANNING CO Kayla Stamps – ASI President	Chair: Provost & VP for Academic Affairs  Executive Secretary:  Recording Secretary:	Once monthly on the 2nd Friday	#Meetings 8	X	Incentive \$ 25.00	= Total	Tota \$		
Committee Member	Administrative Committee	ees/Subcommittees Reporting Meeting Time/Day	to the Preside	nt and l	Jniversit	y Level (	Comr		Position(s) Needed
	·								
	Y INITIATIVE STEERING COMMITT	EE	#Meetings		Incentive		Total		
(ayla Stamps – ASI President	Chair: Peter Quan, Anthony Ross		8	Х	\$ 25.00	=	\$	200.00	A.S.I. President or Designee
		(Student Affairs)							
	Executive Secretary:								
	Recording Secretary:								
ACCESSARI E TECHNOLOG	Y INITIATIVE INSTRUCTIONAL MA	TERIALS PROCLIREMENT WOR	K GROLIPS COL	MMITTE	:F				
ACCESSABLE TECHNOLOG	Chair Thomas Islands		the state of the s	VIIVIII I L			<b>T</b>		

#Meetings

Incentive

Total

1 Undergraduate and 1 Graduate

Richard Shu- (Undergrad)

Chair: Thomas Johnson

MEETS AS NEEDED

P:(909) 518-2596

EXT: 3-3488

/ Email: rshu2@calstatela.edu

tjohnson@cslanet.calstatela.edu

Vacant - (Graduate)

Executive Secretary:

\$ 25.00 100.00 4

<b>ACCESSABLE TECHNOLOGY</b>	INITIATIVE WEB ACCESSABILITY V	VORK GROUPS COMMITTEE	#Meetings		Incentive		Total	_
Vacant (Undergraduate)	Chair:	Once a month on Friday	8	Х	\$ 25.00	=	\$ 200.00	1 Undergraduate and 1 Graduate
	Executive Secretary:							
	Recording Secretary:							

Vacant -Graduate

<b>ACCESSABLE TECHNOLO</b>	GY INSTRUCTIONAL MATERIALS	WORK GROUPS COMMITTEE	#Meetings		Incentive		Total			
Vacant – Undergraduate	Chair: Mary Falvey	MEETS AS NEEDED	4	Х	\$ 25.00	=	\$	100.00	1 Undergraduate and 1 Graduate	
P:/E-mail:	323-343-4408		4	Х	\$ 25.00	=	\$	100.00		
	mfalvey@calstatela.edu		-							

Vacant -Graduate

Executive Secretary:

Recording Secretary:

Recording Secretary: Rosa Cessna

323-343-4309

rgomez8@cslanet.calstatela.edu

CAL STATE LA ALUMNI AS	SOCIATION		#Meetings	Incen	ive	Total
Kayla Stamps – A.S.I. President	Chair: Maria Ubago	Once a month on Friday	8	x \$ 25.	00 =	= \$ 200.00 A.S.I. President or Designee
	323-343-4945		-			
	mubago@calstatela.edu					

**Executive Secretary:** Recording Secretary:

ALCOHOL AND DRUG AWAR	RENESS COMMITTEE	#Meetings		Incentive		Total	
Elizabeth Lechtholz-Zey	Chair: Nancy Wada-McKee	8	Х	\$ 25.00	=	\$ 20	00.00
: 213-703-6842	Executive Secretary:	8	Х	\$ 25.00	=	\$ 20	00.00
Email: elechth@calstatela.edu							

Mathew Hu Recording Secretary:

C:626-236-2161

Email: asiuas2@calstatela.edu

CAMPUS PHYSICAL PLANNII	NG COMMITTEE		#Meetings		Incentive		Tota	ıl	
Jasmine Salgado- Upper Division	Chair: Warren Jacobs	On Call	8	Х	\$ 25.00	=	\$	200.00	1 Undergraduate and 1 Graduate
P: 651-289-2444	Executive Secretary:		8	Х	\$ 25.00	=	\$	200.00	
E-mail: jsalga32@calstatela.edu	Recording Secretary:								

<b>COMMUNICATIONS BOARD</b>			#Meetings		Incentive		Tota	I	
Michael Acevedo – Upper Division	Chair: N/A	MEETS AS NEEDED	8	Х	\$ 25.00	=	\$	200.00	3 Upper Division Students
P: 909-222-2072/			8	Х	\$ 25.00	=	\$	200.00	
E-mail: asicalr1@calstatela.edu	Executive Secretary: Jocelyn Stewart		8	Х	\$ 25.00	=	\$	200.00	
Jasmine Salgado- Upper Division	323-343-3049								

P: 651-289-2444

Jasmine Salgado- Upper Division jocelyn.stewart@calstatela.edu

E-mail: jsalga32@calstatela.edu

Sarena McIntyre

smcinty@calstatela.edu

#### **CAL STATE LA COUNCIL ON INTERNATIONAL PROGRAMS**

Manish Kumar (Graduate)

323-343-5506

mkumar4@calstatela.edu

lkamhis@calstatela.edu

Chair: Dr. Lia Kamhi-Stein

**Executive Secretary:** 

Vacant -Undergrad)

(626) 766-6571

Recording Secretary:

#Meetings		Incentive		Tota	l	
8	Х	\$ 25.00	=	\$	200.00	1 Undergraduate
8	х	\$ 25.00	=	\$	200.00	1 Graduate

### **CAL STATE LA FOUNDATION BOARD OF TRUSTEES**

Kayla Stamps - A.S.I. President

Chair: Janet Dial

TBD

On Call

323-343-3060

janet.dial@calstatela.edu

**Executive Secretary:** 

Recording Secretary:

#N	/leetings		Incentive		Tota	al
	8	Х	\$ 25.00	=	\$	200.00

200.00

### HONORS CONVOCATION AND COMMENCEMENT COMMITTEE

Shirali Shah (graduate)

P: 323-926-3822/

Chair: Ana Caudillo

323-343-3030

2nd Friday of Each Month

8

Х

#Meetings Total Incentive \$ 25.00 200.00 3 Reps 8 = \$ 8 \$ 25.00 \$ 200.00

\$ 25.00

E-mail: sshah35@calstatela.edu Sammantha Moreno (undergrad)

P: / E-mail:

Executive Secretary: Ben Figueroa

acaudillo@cslanet.calstatela.edu

323-343-3802 Vacant

benjamin.figueroa6@calstatela.edu

Recording Secretary:

IN	T	El	R(	_(	J	L	LI	E	G	1	4	Γ	E	F	1	Π	H	IL	Ŀ		П	C		)	В	C	) /	ı	R	D	)
----	---	----	----	----	---	---	----	---	---	---	---	---	---	---	---	---	---	----	---	--	---	---	--	---	---	---	-----	---	---	---	---

Vacant

Chair: Patrick Krug

First Friday of the Term;

10:00am-11:50am

Total #Meetings Incentive \$ 25.00 \$ 200.00 3 Reps 8 Χ = 8 \$ 25.00 \$ 200.00 Χ 8 \$ 25.00 200.00

P: / E-mail: 323-343-3086 pkrug@calstatela.edu Vacant P: / E-mail: **Executive Secretary:** Vacant **Recording Secretary:** 

#### **INSTRUCTIONALLY RELATED ACTIVITIES ADVISORY COMMITTEE**

EXT: 3589

Perla Espinoza

Chair: Mae Santos

MEETS AS NEEDED

#Meetings Incentive Total \$ 25.00 \$ 75.00 2 Reps 3 Х = \$ 25.00 75.00 3 Χ = \$

P: (213) 716-9135/ E-mail: pespino7@calstatela.edu

Alyssa Garcia (BOD Member)

Vacant (BOD Member)

Vacant

msantos@cslanet.calstatela.edu

P: / E-mail: Executive Secretary:

**Recording Secretary:** 

**OSD PRESIDENTIAL ADVISORY COMMITTEE** 

Chair: Gonzalo Centeno

4th Monday of each month

P: / E-mail: 323-343-3140

gcente

Execu

Recording Secretary:

43-3140	2:00-3:30 pm
en@cslanet.calstatela.edu	
utive Secretary:	

8 \$ Χ = 8 Х \$ 25.00 = \$ \$ 25.00 8 \$ 8 \$ 25.00 Χ = 8 Х \$ 25.00 = \$

#Meetings Incentive \$ 25.00 200.00 2 A.S.I. Board Members 200.00 5 General Students 200.00 200.00 200.00

Total

Vacant P: / E-mail: Vacant

P: / E-mail:

P: / E-mail: Vacant P: / E-mail: Vacant

P: / E-mail: Vacant P: / E-mail:

**RISK MANANGEMENT AND SAFETY COMMITTEE** 

1st Wednesday of each month, 2:00p-3:30p

#Meetings Incentive Total \$ 25.00 \$ 200.00 1 Rep 8

Incentive

\$ 25.00

Incentive

\$ 25.00

\$ 25.00

Incentive

\$ 25.00

\$ 25.00

Incentive

\$ 25.00

=

Х

Χ

Total

Total

Total

\$

Total

350.00 2 Reps

350.00

200.00

200.00

\$

=

100.00 A.S.I. President or Designee

200.00 (alternates upon request)

\$

P: / E-mail: EXT: 3527

Kayla Stamps--A.S.I. President

kbrady@cslanet.calstatela.edu

Chair: Kevin Brady

# **RESOURCE ALLOCATION ADVISORY COMMITTEE**

MEETS AS NEEDED Chair: Lynn Mahoney

John Martinez--A.S.I. VPAG 323-343-3800

Lynn.Mahoney@calstatela.edu

Executive Secretary: Recording Secretary:

STUDENT EDUCATIONAL EQUITY ADVISORY COMMITTEE (TO THE VPSA)

**Chair: Emily Moss** 1st and 3rd Thursdays, 9:25am - 10:40am

(773) 791-1127 323-343-3140

slevato@calstatela.edu gcenten@cslanet.calstatela.edu

**Executive Secretary:** 

Vacant Recording Secretary:

P: / E-mail:

Nathan Lee

**Sivan Levaton** 

**STUDENT GRIEVANCE COMMITTEE** 

\$ 25.00 200.00 3 Reps Chair: Letycia Gomez MEETS AS NEEDED 8 \$ =

#Meetings

#Meetings

14

14

#Meetings

8

8

#Meetings

8

asicar@calstatela.edu 323-343-5142

ltgomez@cslanet.calstatela.edu Vacant

P: / E-mail: Vacant P: / E-mail:

STUDENT HEALTH ADVISORY COMMITTEE

\$ 25.00 200.00 4 Reps \$ Gustavo Avila Chair: Raymond Lomax Monthly on Wednesdays; 8 Χ = \$ 25.00 200.00 P: (323) 403-5274 / E-mail: 323-343-5142 time established at 8 \$ 200.00 8 \$ 25.00 = \$ Χ

gavila16@calstatela.edu

rlomax@cslanet.calstatela.edu first meeting of the year Vacant

P: / E-mail: **Executive Secretary:** 

Vacant **Recording Secretary:** 

P: / E-mail:

Vacant

P: / E-mail:

<b>UNIVERSITY ACADEMIC APPI</b>	EALS BOARD		#Meetings	Incentive	Total
Joseph Shichuan Li (Graduate)	Chair: Scott Bowman	First Friday of Each Month	8 x	\$ 25.00 =	\$ 200.00 4 Reps

P: 323-774-9596

323-343-3810

323 3 13 3010

10:00am -- 11:50am

On Call

1ST FRIDAY OF EACH

12:00 - 2:35 PM

MONTH

TBD

sbowman@calstatela.edu

\*Additional panel meetings

as needed

8	Х	\$ 25.00	П	\$	200.00
8	Х	\$ 25.00	=	\$	200.00
8	X	\$ 25.00	=	ς	200.00

Incentive

Incentive

\$ 25.00

#Meetings

#Meetings

0

**Natalia Torres** 

P: 323-420-3264 Email: ntorre24@calstatela.edu

Email: asigdas4@calstatela.edu

Executive Secretary: Recording Secretary:

STUDENT FEE POLICY COMMITTEE

Kayla Stamps (A.S.I. Pres)

Chair: Lisa Chavez

Aaron Castaneda A.S.I. VPF 323-343-3500

David Zitser <u>lisa.chavez@calstatela.edu</u>

Executive Secretary:

Recording Secretary: Jill Carnahan

323-343-3507

jcarnah@cslanet.calstatela.edu

**UNIVERSITY AUXILIARY SERVICES, INC. BOARD OF DIRECTORS** 

Kayla Stamps (A.S.I. Pres)

Chair: Jose A. Gomez

idii . Jose A. Goii

323-343-3030

<u>jose.gomez@calstatela.edu</u>

Vacant

Vacant P: / E-mail:

P: / E-mail:

Executive Secretary:

Recording Secretary: Jill Carnahan

**VETERANS ADVISORY COMMITTEE** 

Maria Garcia (A.S.I. VAC)

Chair: Dr. Dani Molina

P: 562-441-4165 323-343-5081

Email: asivac@ad.calstatela.edu

Dani.Molina@calstatela.edu

Executive Secretary:

Recording Secretary: Jill Carnahan

**Academic/Social Support and Services Council** 

Marina Hernandez

(661) 889-1942

mhern317@calstatela.edu

4	Х	\$ 25.00	П	\$ 100.00	A.S.I. President or Designee
4	Х	\$ 25.00	=	\$ 100.00	2 Reps

Total

#Meetings		Incentive		Total		
8	Х	\$ 25.00	=	\$	200.00	A.S.I. President or Designee
8	Х	\$ 25.00	=	\$	200.00	2 Reps

Total

\$

- 1 Rep (Veterans Affairs Commissioner)

#Meetings		Incentive		Tota	l .	
14	Y	\$ 25.00	=	ς	350.00	

Administrative Committees/Subcommittees Reporting to the President and University Level Committees	9	Sub-Total	\$ 9,	400.00
STANDING COMMITTEES OF THE EDUCATIONAL POLICY COMMITTEE	Ş	Sub-Total	\$ 8,	750.00
	Gr	rand Total	\$ 18,	150.00

# COLLEGE SPECIFIC COMMITTEES/SUBCOMMITTEES

\*\*\*REPORTING TO THE DEANS OF AND UNIVERSITY LEVEL COMMITTEES\*\*\*

A.S.I. STUDENT REP	COMMITTEE NAME	COMMITTEE PURPOSE/CHARGE	MEETING DAY/TIME						# OF STUDENT REPS (V= VOTING, NV= NONVOTING)
COLLEGE OF AR	RTS & LETTERS			#Meetings	Incentive		Tot	al	
VACANT (undergrad) VACANT (graduate)	RESOURCE ALLOCATION ADVISORY COMMITTEE	Provides basic level of review for the allocation of coll. Resources, researches & analyzes college trends	1 or 2 x a year in Spring Semester	2 2	\$ 25.00 \$ 25.00	= =	\$ \$		1 undergrad 1 graduate

COLLEGE OF BU	JSINESS & ECONO	OMICS		#Meetings		Incentive		Total	
VACANT	STUDENT AFFAIRS COMMITTEE	Reviews & recommends coll. Policy, plans & procedures re. student affairs.	2nd & 4th Thursday at 2pm	12	x	\$ 25.00	=	\$ 300.00	1 student
VACANT VACANT	UNDERGRADUATE STUDIES COMMITTEE	Review & approve undergrad curriculum changes & proposals; other program related issues	1s & 3rd Wednesday at 2pm	12 12	x x		=	•	2 students in good standing
VACANT	GRADUATE STUDIES COMMITTEE	Review & approve grad. Curriculum changes & proposals; other program related issues.	1s & 3rd Thursday at 2pm	12	x	\$ 25.00	=	\$ 300.00	1 student
Shirali Shah	RESOURCE ALLOCATION COMMITTEE	Review priorities & resource allocation requests & submit recommendations to the Dean.	1 or 2 x a year	12	x	\$ 25.00	=	\$ 300.00	1 student

Kevin Burgos - (323) 652-2820 kburgos2@calstatela.edu

CHARTER	COLLEGE OF EDUCATION	N		#Meetings		In	centive		T	otal	
ACANT	STEERING COMMITTEE	Main committee that sets the CCOE calendar, monitors & delegates tasks & proposals, oversees the CCOE strategic plan, etc.	TBD	8	x	ţ	25.00	=	Š	200.0	1 V. CCOE Coll. Rep is highly encouraged to serve on this committee
CANT	FACULTY & STAFF COMMITTEE	Provides development & mentoring structure for staff & faculty, makes nominations, etc.	TBD	8	×	Ş	25.00	=	ç	\$ 200.0	1 VAppointed under CCOE Dean's office supervision supervision. Not through A.S.I.
ACANT	INNOVATION CURRICULUM & ASSESSMENT COMMITTEE	Addresses curriculum, related policies & issues, instructional changes & support assessments of student outcomes	TBD	8	X	Ş	25.00	=	ç	\$ 200.0	1 VDoctoral Student preferredappointed under CCOE Dean's office , supervision
ACANT	RESOURCE ALLOCATION COMMITTEE	Review priorities & resource allocation requests & submit recommendations to the dean	2 x per year	2	×	ç	5 25.00	=	,	5 50.0	OO Appointed under CCOE Dean's office supervision not through A.S.I.
ACANT	FISCAL RESOURCE DEVELOPMENT	Makes funding recommendations to the steering committee & SAW, etc.	TBD	8	x	ç	25.00	=	Ç	\$ 200.0	1 VAppointed under CCOE Dean's office
ACANT	STUDENT DEVELOPMENT COMMITTEE	Addresses student issues like discipline, scholarship & advisement develop student Advisory Council & encourage student work.	On an as needed basis to address grievances, Regular times: TBD	8	х	ç	5 25.00	=		\$ 200.0	00 1 VAppointed under CCOE Dean's office su not through A.S.I.
ACANT	ACADEMIC INFORMATION RESOURCES COMMITTEE	Makes recommendations re. academic information resources & services develops priorities, maintains CCOE website.	TBD	8	x	ç	5 25.00	=	ç	\$ 200.0	00 1 VAppointed under CCOE Dean's office su not through A.S.I.

'ACANT	INSTRUCTIONAL AFFAIRS	Reviews & recommends in curriculum	TBD	8	Х	\$ 25.00	=	\$ 200.00	1 student rep
	COMMITTEE	matters & educational policies							
ACANT	PROFESSIONAL PRACTICE	Reviews proposals for the senior	TBD	8	х	\$ 25.00	=	\$ 200.00	
	COMMITTEE	design projects							
ACANT	RESOURCE ALLOCATION COMMITTEE	Reviews priorities & resource	1 or 2 x per year	2	x	\$ 25.00	=	\$ 50.00	
	COMMITTEE	allocation requests & submit recommendations to the Dean.							
COLLEGE O	F HEALTH AND HU	MAN SERVICES		#Meetings		Incentive		Total	
ACANT	UNDERGRADUATE COMMITTEE	Establishes Priorities & makes recommendations for undergrad curriculum, instructional policies & policies readmissions, adviseent, co-curricular programs, countselling, testing, scholarships, career placement, etc.	TBD Monthly meetings typically on Wed. afternoons	8	x	\$ 25.00	=	\$ 200.00	1 undergrad 2.75 GPA, enrolled in 8 units, completed 30, & availability
ACANT	Graduate & Credential Committee	Review curricular matters, course modifications/deletions/student outcomes, review student petitions, advisement, etc.	TBD Monthly meetings	8	x	\$ 25.00	=	\$ 200.00	1 Grad 3.0 GPA, enrolled in 1 course completed 1 semester, availability
ACANT	RESOURCE ALLOCATION COMMITTEE	Review priorities & resource allocation requests & submit recommendations to the Dean	1 or 2 x per year	2	x	\$ 25.00	=	\$ 50.00	1 student rep
COLLEGE	OF NATURAL AND	SOCIAL SCIENCES		#Meetings		Incentive		Total	
<b>/</b> A	Educational Policy Committee	Advises the dean in curriculum matters & recommends edu. policies	1st & 3rd wed of the month						NO Student Representation This is a possibilitystart conversation at the committee level to change constitution.
avid Zitser avid Garcia	STUDENT AFFAIRS SUBCOMMITTEE	Reviews & recommends coll. Policy plans, & procedures re. student affairs like recruitment	2nd & 4th Thursdays of the month from 1:30-3:10pm	12 12	x x	\$ 25.00 \$ 25.00	=		2 students, preferably 1 from Natural and 1 from Social Science
ACANT	RESOURCE ALLOCATION COMMITTEE	Review priorities & resource allocation requests & submit recommendations to the Dean	1 x per semester	2	x	\$ 25.00	=	\$ 50.00	1 student
<b>/</b> A	DEPT. CHAIRS MEETING	Good for making quick presentations or introductions only	1st & 3rd Thursday morning of the month			Total		\$4,400.00	None needed